

THE BOARD OF DIRECTORS

PATRICIA ADAMS
Chair and President
ANN CAVOUKIAN
Executive Director, PBDI, Ryerson University
ANDREW COVNE
Columnist, National Post
IAN GRAY
President, St. Lawrence Starch Co. Ltd.
BRUCE PARDY
Professor of Law, Queen's University
ANDREW ROMAN

MAX ALLEN
Producer, CBC Radio
DAVID CAYLEY
Writer and Broadcaster
GLENN FOX
Economist, University of Guelph
CLIFFORD ORWIN
Professor of Political Science, University of Toronto
GAIL REGAN
President, Cara Holdings Ltd.
GEORGE TOMKO
Expert-in-Residence in IPSI, University of Toronto

June 26, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street Toronto, ON M4P 1E4

Dear Ms. Walli,

RE: EB-2018-0218: Hydro One Hydro One Sault Ste. Marie Application Energy Probe Cost Claim

Attached is the cost claim of Energy Probe Research Foundation. Copies of the claim have been posted on RESS, delivered in hard copy and by e-mail to the OEB, and by e-mail to the applicant.

If you require any additional information regarding this claim, do not hesitate to contact me.

Respectfully submitted on behalf of Energy Probe.

Tom Ladanyi

Consultant Representing Energy Probe

416 423-3685

tom.ladanyi@rogers.com

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

		Instructions
 All claims must A separate "Det Disbursements B However, only or The cost claim r A CV for each co 	be in Canadian dollars. If applicable, stail of Fees and Disbursements Being Cleing Claimed") is required for each lawne "Summary of Fees and Disbursemer must be supported by a completed Affionsultant/analyst must be attached un	ds. Formulas are embedded in the form to assist with calculations. state exchange rate and country of initial currency. Rate: Country:
File # EB- EB	-2018-0218	Process: Hydro One Sault Ste Marie Transmission Rates
Party: End	ergy Probe Research Foundation	Affiant's Name: Thomas J. Ladanyi
HST Number:	10730 5146 RT0001	HST Rate Ontario: 6.50%
	Full Registrant Unregistered Other	Tax Exempt □
		Affidavit
l,	Thomas J. Ladanyi	, of the City/Town of Toronto
in the Provinc	e/State of Ontario	, swear or affirm that:
2. I have examine Disbursements B 3. The attached ' Disbursements B Ontario Energy B 4. This cost claim	ed all of the documentation in support leing Claimed", "Statement(s) of Fees B 'Summary of Fees and Disbursements I leing Claimed" include only costs incure Board process referred to above.	Party") and as such have knowledge of the matters attested to herein. of this cost claim, including the attached "Summary of Fees and leing Claimed" and "Statement(s) of Disbursements Being Claimed". Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of red and time spent directly for the purposes of the Party's participation in the one, or time spent, by a person that is an employee or officer of the Party as ice Direction on Cost Awards.
Signature of A	Affiant	
Sworn or affir	med before me at the City/Town	n of,
in the Province	e/State of Ontari	o June 26, 2019 .
Strede	I Trol	(date)

Commissioner for taking Affidavits

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

File # EB-	EB-2018-0218		Process: _	Hydro One Sault Ste Marie Transmission Rates			
Party:	Energy Probe Resear	ch Foundation					
	S	ummary of Fee	s and Disbursen	nents Being Claimed			
Legal/cons	sultant/other fees	\$	31,682.50				
Disbursem	nents	\$					
HST		\$	2,059.36				
Total Cost	Claim	¢	33,741.86				

Payment Information

Make cheque payable to: Energy Probe Research Foundation

Send payment to this address: 225 Brunswick Avenue

Toronto, Ontario

M5S 2M6

Attention: Frank Cianflone

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0218	Process: Hydro One Sault Ste Marie Transmission Rates							
Party:	Energy Probe Research Foundation	Service Provider Name: Tom Ladanyi							
	SERVICE PROVIDER TYPE (check one)	Year Called to Completed Years Practising/Year Bar of Relevant Experience	rs						
	Legal Counsel	45							
	Articling Student/Paralegal								
	Consultant	Hourly Rate: \$330							
	Analyst □								
	For Consultant/Analyst: CV attack	ched HST Rate Charged (enter %): 6.5%							
		vided within previous 24 months							

St	atement o	of Fe	ees Being	Cla	imed			
	Hours Hourly Rate			Subtotal		HST	 Total	
Pre-hearing Conference	14							
Preparation		\$	330.00	\$		\$		\$
Attendance		\$	330.00	\$	y L a 2	\$	-	\$ erina Resignation
Technical Conference					* A			
Preparation	6.00	\$	330.00	\$	1,980.00	\$	128.70	\$ 2,108.70
Attendance	14.00	\$	330.00	\$	4,620.00	\$	300.30	\$ 4,920.30
Interrogatories								
Preparation	24.00	\$	330.00	\$	7,920.00	\$	514.80	\$ 8,434.80
Responses		\$	330.00	\$		\$	-	\$
Issues Conference								
Preparation	1.50	\$	330.00	\$	495.00	\$	32.18	\$ 527.18
Attendance	1.00	\$	330.00	\$	330.00	\$	21.45	\$ 351.45
ADR - Settlement Conference								
Preparation		\$	330.00	\$		\$	-	\$) -
Attendance		\$	330.00	\$	-	\$	-	\$ _
Proposal Preparation		\$	330.00	\$	-	\$		\$ -
Argument								
Preparation	18.00	\$	330.00	\$	5,940.00	\$	386.10	\$ 6,326.10
Oral Hearing								
Preparation		\$	330.00	\$	_	\$	-	\$ j
Attendance		\$	330.00	\$	-	\$	-	\$ V 1 = 1 2
Other Conferences					5.			
Preparation		\$	330.00	\$	-	\$	-	\$ _
Attendance		\$	330.00	\$	_	\$		\$
Case Management	3.00	\$	170.00	\$	510.00	\$	33.15	\$ 543.15
TOTAL SERVICE PROVIDER FEES				\$	21,795.00	\$	1,416.68	\$ 23,211.68

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0218		Process: H	ydro One Sault Ste Marie 1	ransmission Rates		
Party:	Energy Probe Research Foundation		Service Pro	vider Name: Larry Schwar	: Larry Schwarz		
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar		rs Practising/Years nt Experience		
	Legal Counsel				25		
	Articling Student/Paralegal						
	Consultant			Hourly Rate	\$175		
	Analyst						
	For Consultant/Analyst:	□ CV attac	hed	HST Rate Charged (enter %)	6.5%		
		☑ CV provi	ded within previous	24 months			

	atement o					т —				
Due have in Co. (Hours	Ho	urly Rate		Subtotal		HST	1	Total	
Pre-hearing Conference						19,				
Preparation		\$	175.00	\$		\$	-	\$	-	
Attendance		\$	175.00	\$	-	\$	-	\$	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	
Technical Conference			v 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2							
Preparation	4.00	\$	175.00	\$	700.00	\$	45.50	\$	745.50	
Attendance	14.00	\$	175.00	\$	2,450.00	\$	159.25	\$	2,609.25	
Interrogatories										
Preparation	25.50	\$	175.00	\$	4,462.50	\$	290.06	\$	4,752.56	
Responses		\$	175.00	\$	_	\$	-	\$	-	
Issues Conference										
Preparation		\$	175.00	\$	-	\$	-	\$	-	
Attendance		\$	175.00	\$		\$	-	\$	_	
ADR - Settlement Conference					The second secon	,				
Preparation		\$	175.00	\$	_	\$	-	\$	-	
Attendance		\$	175.00	\$	-	\$	_	\$	_	
Proposal Preparation		\$	175.00	\$		\$	-	\$	_	
Argument	18					,		7		
Preparation	13.00	\$	175.00	\$	2,275.00	\$	147.88	\$	2,422.88	
Oral Hearing				-		Υ	117.00	Υ	2,422.00	
Preparation		\$	175.00	\$	_	\$		\$		
Attendance		\$	175.00	\$		\$	_	\$		
Other Conferences		-		~		7		7		
Preparation		\$	175.00	\$		\$		\$		
Attendance		\$	175.00	\$		\$		\$	-	
Case Management	0.00	\$	170.00	\$		\$		\$	-	
	5.50	Υ	170.00			٧		۲		
TOTAL SERVICE PROVIDER FEES	= 4 4		er in the rest	\$	9,887.50	\$	642.69	\$	10,530.19	

TL Energy Regulatory Consultants Inc.

Date: 25 June 2019

To:
Frank Cianflone
Energy Probe Research Foundation
225 Brunswick Ave.
Toronto, ON
M5S 2M6

Invoice No: EPRF 2019-04

From:
Tom Ladanyi
TL Energy Regulatory Consultants Inc.
41 Divadale Drive
Toronto, ON
M4G 2N7

Phone: 416-423-3685

E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2018-0218 Hydro One SSM Transmission Rates

Date	Description of Work	Hours		Rate	Amount
	Interrogatories	2	\$	330.00	\$ 660.00
	Interrogatories	2	\$	330.00	\$ 660.00
	Interrogatories	1	\$	330.00	\$ 330.00
	Interrogatories	1	\$	330.00	\$ 330.00
2018-11-14	Interrogatories	3	\$	330.00	\$ 990.00
	Interrogatories	2	\$	330.00	\$ 660.00
2018-11-18	Interrogatories	4	\$	330.00	\$ 1,320.00
2018-11-19	Interrogatories	2	\$	330.00	\$ 660.00
	Interrogatories	3	\$	330.00	\$ 990.00
	Issues List Preparation	1	\$	330.00	\$ 330.00
	Issues List Preparation	0.5	\$	330.00	\$ 165.00
2019-01-07	Issues List call	1	\$	330.00	\$ 330.00
2019-01-10	Tech Conf preparation	2	\$	330.00	\$ 660.00
2019-01-13	Tech Conf preparation	2	\$	330.00	\$ 660.00
2019-01-14	Tech Conf	7	\$	330.00	\$ 2,310.00
2019-01-15	Tech Conf	7	\$	330.00	\$ 2,310.00
2019-01-17	Tech Conf exhibit preparation	2	\$	330.00	\$ 660.00
2019-02-07	Interrogatories to PEG	2	\$	330.00	\$ 660.00
2019-02-28	Interrogatories to PEG	2	\$	330.00	\$ 660.00
2019-04-03	Argument	1	\$	330.00	\$ 330.00
2019-04-09	Argument	3	\$	330.00	\$ 990.00
2019-04-09	Argument	5	\$	330.00	\$ 1,650.00
2019-04-10	Argument	7	\$	330.00	\$ 2,310.00
2019-04-11	Argument	2	\$	330.00	\$ 660.00
	Case management	3	\$	170.00	\$ 510.00
			S	ubtotal:	\$ 21,795.00
	GST/HST No: 77848 0921 RT0001		Н	ST 13%:	\$ 2,833.35
ake cheque pa	yable to:	A 10 0	***************************************	Total	\$ 24,628.35

TL Energy Regulatory Consultants Inc.

LAWRENCE P. SCHWARTZ, PH.D. CONSULTING ECONOMIST

82 Ridge Hill Drive Toronto, Ontario M6C 2J8 416-785-4985

Ischwartz5205@rogers.com

June 14, 2019

Mr. Frank Cianflone Energy Probe Research Foundation 225 Brunswick Avenue Toronto, Ontario M5S 2M6

INVOICE

Dear Mr. Cianflone

Re: EB-2018-0218

This invoice covers work done in connection with the subject matter.

The attached Excel workbook shows billable my hours by month from November 2018 through April 2019, and in summary.

Fees (56.5 hours at \$175/hr)

\$9,887.50

13% HST*

\$1,285.38

Total invoice

\$11,172.88

Due on receipt. Please make your cheque payable to me at the above-noted address.

I trust that everything is in order.

Sincerely,

(signed) Lawrence P. Schwartz

Attach.

*HST Business Number: 122504798RT0001

Time Sheet for L. Schwartz Board File: EB-2018-0218

Billable Hours

Summary	Hours
Preparation Attend. Tech. Attend. ADR Attend. Hearing Argument Prep. Case Mngt. (CM)	29.50 14.00 0.00 0.00 13.00 0.00
Total	56.50